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Read the following instructions carefully
bclou you open the question booklet.

10,

Answers are to be given on a separate
answer sheet (OMR sheet).

Write your Roll Number as allotted to you in
the admission card very clearly on the test-
booklet and darken the appropriate circles
on the answer sheet as per instructions
given.

There are 100 guestions in this test. All are
compulsory, The question numbers 1 to
35 and 91 to 95 belong to Sciences. 36 0
55 to Mathematics and 56 to 90 and 96 to
100 arc on Social Science subjects.

Please follow the instructions given on the
answer sheet for marking the answers.

If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back to the questions, which you have
left in the first instance and attempt them,

Since the time allotted for this question

paper is very limited, you should make the
best use of it by not spending too much time
on any one question,

Rough work can be done on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.
Every correct answer will be awarded one
mark. There will be no negative marking.
Please return the Answer sheet (OMR
Sheet) only to the invigilator after the
test,

Hindi version of the question paper will be

considered as final in case of any dispute

arising out of variation in translated version.

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.
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SCHOLASTIC APTITUDF. TEST |
Tq WA-UF § T 100 W § | TRAE U TH 3AF B¢ |
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

UF R 80 km/h I A et ¥ 40 T g 7@ Felt € T B 40 km/h
aﬁaﬁwwﬁwﬁﬁﬁqﬁaiﬂmmglwmﬁwaﬁr%mwaﬁ
3frga =7 €

(1) 40km/h - () 45km/h
(3) 48 km/h (4 53 km/h.

A car travels 40 kms at an average speed of 80 km/h and then travels 40 kms at
an average speed of 40 km/h. The average speed of the car for this 80 km trip is

(1) 40km/h (2) 45 km/h

(3 48km/h - (4) 53 km/h.

‘e’ ug e ¥ @ e e steuRon & g g&fi g 2
(1) R | () e o

(@) e ' (4) T

The term ‘mass’ refers to the same physical concept as

(1)  weight \ (2) inertia

(3) force (4)  acceleration.

5-0 kg 1 TF I Afcst G #F 6:0 m/s ¥ T W@ ¥ Wm%‘amﬁloo:n/s

F % AT aRe W R ST aren F FA @ el

(1) 40J , (20 90J

(3) 160J - (4) 20J.

A 5-0 kg object is moving horizontally at 60 m/s. In oder to change its speed to
10-0 m/s, the net work done on the object must be

{

(1) 40J C 2) 90J

‘3 160J @) 20J.

forelt oRq &1 U 1 gU &1 W Ha PR A e €,
(1) SeAW 2)  WE W

3) AW | '(4)- T W |

The momentum of an object at a given instant is mdependent of its
(1) inertia (2) speed
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The pressure exerted on the ground by a man is greatest when
{1} he stands with both feet flat on ground

{2]  he stands flat on one foot

(3]  he stands on the toes of one foot
i4)  all the above yield the same pressure.

Teh W qT B AR 30 m & | U Giied %3 @ % A e F & 0

g e |
{1} 075m (20 1'5m
(3) 30m (4 6-0 m.

A sound wave has a wavelength of 30 m. The distance from a compression
centre to the adjacent rarefaction centre is

(1) 0O075m 2} 1'5m

(3) 30m {4 60m.

= F @ =pm vl g J) & 9 am

(1) e, e (2) i, g ud du

(3p W, we e (4)  wden, BT O 397 |

Of the following, the copper conductor that has the least resistance is
{1)  thin, long and hot (2} thick, short and cool

(3] thick, long and hot {4)  thin, short and cool.

20 0 & 9K Hathy gofishn F g W E w @ # 20 v fowe @@ @ gfw @
witgr mar ¢ | fedt u wiaey & R W favera &

M sv @ 2v

3} 4V {4 20V

Four 20 Q resistors are connected in serics and the combination is connected to
a 20 V emf device. The potential difference across any one of the resistors is
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The magnetic field lines due to an ordinary bar magnet

(1)
(2)
3)
(4)

form closed curves
cross one another near the poles
are more numerous near the N-pole than near the S-pole.

do not exist inside the magnet.
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When light travels from medium X to medium Y as shown

(1)
(2)

3)

(4)

N

both the speed" and the frequcnéy decrease

both the speed and the frequency incréasg .
both the speed and the wavélength decrease

both.the wavelength and the frequ(;hcy are unchanged.
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02d
.C_
| — d -
(1. 02d, 1-8d (2 02d 22d
(3) 02d, 08d - (4 02d, 12d

A candle Cis kept between two parallel mirrors, at a distance 0-2 d fror
mirror 1. Here d is the distance between mirrors. Multiple images of the c
appear in both mirrors. How far behind mirror 1 are the nearest two imag

the candle in that mirror ?

=
L

e - —
() 02d, 1-8d 20 02d, 22d
(3) 02d, 0-8d 4 02d, 1-2d. 4
-wlmw%immma%mmmmmﬁamﬁmmw
i STEE T E | o
(1) 100 ¥R= @ S0t
(3) 20 FRW | (@) 23R |

For a 1 MW wind enefgy generator, the minimum land area requirec
establishment of wind energy farm is about

(1) - 100 hectares D) S0 hectaree
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@) CyHg o (4) CH

ﬁﬁﬁmﬁﬁ$ﬁmqm?$mwmg$nmam%?

(1) e (2) IFEH ——
(3) T 4 w1 A
Milk of magnesia is an example of which type of colloid ?

(1) Gel . (2)  Emuision

(3) Sol ' (4), Foam.

0-051 g UeAfifam aiiamge & Uepfafran smga &t g ool @em €

(1) 0-001 (2) 0051

(3) 0102 4) 2.

The number of gram moles of aluminium ions present in 0-051 g of aluminium
oxide is | |

(1)  0-001 o (2) 0051

(3) 0102 . @ 2.

C1 AW | GASTRAT Szl ! U &

(1) 16 o ©2) 7

@ 17 4 18

Nurhber of valence electrons in Cl atom is

(1) 16 : 2 7

3 17 : (4) 18.

T T F GHeNE | w § | |

(1) GEH i o (2) o Tt o

(3) T H STCTT-SCT A (4) [9H W] G |
Isotopes of an element have

(1)  the same physical properties

- (2) different chemical properties

(3) different number of neutrons

(4) different atomic number,

R e e e Heer e SR 2 7

(1) C,H, ) C,H,

) C,H, - 4 CH,

Which of the following hydrocarbons uﬁdergocs addition reactions ?
(1) C,H, | (20 C,Hg L

4
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(1) @ B e Pl gt g

(2) HAiHA S @ e A A E

(3)  TRHI] I | IR F & B ¢

(@) T g A et B a E

Which of the following statements is not a correct statement about the trends -
when going from left to right across the periods of periodic table ?
(1) The elements become less metallic in nature

(2) ~ The number of valence electrons increases

(3) The atoms lose their‘ electrons more easily

(4)  The oxides become more acidic.

iifes 3wt @1 nfva® A CH, COOH ¥ |wt‘z |
(1) 8 Teadivm ey § @ 7 wEEeE aEyE
(3) 9O WEHdTEH Y € (4) -wzmnﬁmsrmic

Acetic acid, with the molccular formula CH COOH has

(1} 8 covalent bonds (2) 7 covalent bonds
(3) 9 covalent bonds _ V(4) 10 covalent bonds.
ﬁémm%maﬁmmﬁmmmﬁﬁam%:ﬂi
a‘lﬁmmﬁtﬁﬁﬁatlmﬁwﬁm%7 :
1) Hewm T (2 A

(3) fafem L () e I

An element reacts with oxygen to give a compound with a high melting point.
This compound is also soluble in water. The element is hkely to be

: (1) calcium (2) carbon
(3) silicon | (4) iron.
MM%mﬁﬁmu@sﬁaﬂmﬁﬁﬁsﬁwm&’Wmmt ?
() FEHREF 2  TEREE
e | » 4) RS E |
Metals in the middle of the actmty series can be easxly extracted from their
(1) . Carbonates : (2) Sulphides

1 |\ F P, © s PR
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24.

Pb (s) + CuCl,(aq) — PbCly(ag ) + Cu () |

FR @ 78 sffrar fFg WER B E 2 -
(1) s s @) el s
(3) forrer arffian @) forene sfefEa |
Pb (s) + CuCl,(ag) — PbCly(aq) + Cu (s)

. / . p
The above reaction is an example of a

(1) combination reaction (2) neutralisation reaction

' (3) decomposition reaction . (4 displacement reaction.

Tifea TR 3 AT § T Tew! U1 & AT § FA e T4 IS e g

(1). Mg @ P

(3) Al (4)  Ne.

Addiﬁg an alpha particl¢ to the nucleus of sodium atom produces which new
“element ?

() Mg | @ P
“(3) Al - (4)  Ne.-

et 7 @ FA-91 HIREHT AT TE H AEH T H G T ?

(1) cEEEH (2) it SYEROT -

(3) wifes | (4) * STl ST |

Which among the following cell organelles is able to make its own proteins ?
| (1) Lysosome . ' (2)  Golgi apparatus

(3) Plastid . ‘ (4) ' Endoplasmic reticulum.

Frfare fawsaaes T S & |

(1) Uil & STYR 9 ud 9y & g AR

(2 A

(3)  ufwEl = i q

(4) R & ¥ A

- -

Intercalary meristem is present in 7
(1)  atthe _basé of the leaves and both the sides of node
(2) in the roots : s - ¢
(3) at the tip of the leaves -

(4) at the shoot apex. |
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Fret 4 1 e 1 T &

1) T @ FEm
(3) AT @ wREE
Which among the following is an example of fungi ?

(1) Anabaena (2 Euglena

(3) Mycoplasma - (4) | Agaricus.

e T T YeT Wi & faerr 3eE o 9e g &

(1) e o 2) wAeg H
@ waRE @ IS
In plants transport of soluble products in the process of photosynthesis oc
in
(1)  xylem | (2) ~phloem
(3)  both of these (4) none of these.
ﬁmﬁ@ﬁammqﬁm‘ﬁmﬁmﬁa% ?
(1) ufeafa® s (o e
(3) R @) SR
Which among the following hormones is associated with wilting of leaves ?
(1)  Abscisic acid | « (2) Gibberellin. '
(3)  Cytokinin (4) . Auxin.
A wRRTE : L
(1) SUSRE F | (2)  STUS T
(3) YN FH @ FHAER
Seed is modification of
(1) | ovary : (2) ovule |
(3) thalamus (4) all of these.
mﬁma:asﬁummwa%v s X
(1) e & eRfad (2 e @ ggE (Fifsam)

G) & (Fw) W wmfEm 4) ‘»'%F@amaqam(w%w){

How many types of muscle tissue are found ? -
(1) Striated and.unstriated -~ (2) Stnated and cardiac
(3) Cardiac and unstriated 4) | Striated, unstriated and cardiac.
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Which characters are present in a vertebrate ?

{1) Notochord, triploblastic, coelomate and bilateral symmetry

{2) Notochord, diploblastic, coelomate and radial symmetry

(3}  Notochord, triploblastic, acoelomate and bilateral symmetry
{4) Notochord, triploblastic, acoelomate and radial symmetry.

i ¢

(1) = el i & e ae we
2 @ el & W aE wmE

@) @ d i & v a w
(@) Ot @ & & o wEl = |
Synapse is

(1} gap between two muscle cells

(2} gap beween two bones

(3] gap between two neurons
(4) gap between muscle and bone. |

o Wi 3 GIeRwER (SRR 1A A 8 2

(1) e g 2] A

(3} E1EE (4) TERRE |
Regeneration is found in

{1} tapeworm 2] leech

(3] hydra [4]  ascaris.

fomr & B F-1 G U W6 wr e F e € 2
(1) T — GO — WY — &5 _

(2) am-«-a'sr&-mhsﬁ-»ﬂw i

(3) U — T — FE — i

4) m_qm—»m-»aﬂiﬁ i



Which of the following groups constitutes a correct food chain ?
{1} Grass — Rabbit — Snake —» Eagle

(2) Grass — Goat — Fox — Lion

(3} Goat — Grass — Elephant — Snake

{4}  Grass — Wheat — Frog — Goat.

#1 & FfvEm B st = ofew” sm Ay o

(1) FEEg (2)  erEEES

(3) e ditza (4) 3T wEed! e |

Which cell organelle is known as “powerhouse of the cell” ?

(1) Mitochondria 2) Lysosome

(3) Golgi apparatus. 4) Endoplasmic reticulum.

q (12 +22 +32 4 .+ 122 ) = 650 & &, (22 + 42 + 62 + . + 247
W &

{1} 1300 2} 2600

(3) 2500 _ (4 42250.

i1(12 +22 +32 4 . +12? | = 650, then the value of

(22 +42 462+ . +232)is

{1} 1300 _ (2) 2600
(3) 2500 (4  42250.
2 2+2ah 2_p2 -
kb (0T at-b 1 T &
a+b
(1) x2ie*b) 2 x 2
1a4b}2 ‘
@ x 2 @ x2rh
2 2+ 2ab 2_32
The square root of x?° x? X7 6% i
a+b
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38, AR (x+2), 2x%— Sx+ k F1 Th UAETS ¥, A k FHA &

1) 6 @ -6

@) 26 - @ — 26.

If(x4-2)‘is.afactorof2x3—5x+ k, then the value of k is
(1) 6 @ -6

3). 26 | | (4)‘ - 26.

p ¥ fra 7 & forg, et Yas gt & g

3x+py=7,px +3y=15 &1 IS & @l & 2

1) 9 (2) %5

@ +3 : @ *a.

For which value of p the following pair of linear equations Sx +py= 7,>

px + 3y = 15 will have no solutions ?

(1) +9 @ 5

(3) 3 | @ ta

o e S W R @ | S 9% @ o A WA &
49maﬂt36mgﬁwmﬁﬁ§aﬁwﬁaﬂ%&1@1wmmmz 41°

siase ¥ 1 e A ¥

() 40m (2) 42m
@) 44m @ a6m. ,

A tower is on a horizontal plane. The angles of elevation of top of the tower from

two points on a line passing through the foot of the tower at distances 49 m and

'36 m are 41° and 49°. The height of the tower is

() 40m ‘ 2) 42m

@) 44'm @)  46m.
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ﬁ?ﬂhﬁﬁawcbﬁgmaﬁwacuaﬁﬁawazﬁw,amw%
. D

(1) x+2y @ x-y

B) x+y : '. (4) 2x+ y.

- Sides AB and CD of a quadrilateral ABCD are extended as in figure. Then a.+ b is

equal to

(1) x+2y - & xX—-y

(3) .x+y \ /(91'/2x+y.

42.

& ST O g A% ¥ A BT L POR = 80°, A £ Ros 1 A &

(1) ‘30° S . (2  _'40°

(3) 140° ' (4 s0°



LRl

in the figure O is the centre of the circle and £ POR = 80°, Then Z RQSis

(1) 30° ,
{3)  140° 4y 50°
43, % wm BN ) TR VU F U A B 9 €, 99 S g
HAEA! 1 ST 8 |
(1) 1:2 2) 1:3
(3 1:4 | @ 2:3 |

If every side of a triangle is doubled then a new triangle is formed. The ratio o
areas of these two triangles is . -

1 1:2 ' 2) 1:3

@ 1:4 4 2:3,

a4, aft <) sl @ A 5 ¥, @ S A R 300 8, A e w1 3 ¢
(1} 1500 2 6
(3) 12 . (@} 60.

If the difference of two numbers is 5 and difference of their squares is 300, then
sum of the numbg:ra 15

(1) 1500 25 6
3y 12 4] 60.
45. R TEERT ax? + 2x- 2 =0 % E ARAfE Taa i A a 1 HF &
-1 | w1
(1} “>",é‘ 2] O.S‘?
@ az 5 @ a=.

If the equation ax? + 2x— 2 = 0 has real and distinct roots, then the value of a
iS ) .

. )

(1} a=>-— (2) as—'-2—l

B az-5 (4) a=l2’-.



46. I a+ b+ c=0,ﬁ>f

A &

(a-+-b)2 (b+,c)2 (c-&-a)2

ab * bc * ca
(1) 1 | 2 2
3) 3 ' | 4) - 3.

If a+ b+ c=0, then the value of

2 2
(a+b)®  (b+c)?  (ct+a)? "

ab be ca
. r - 2 2
‘ 3) 3 ' @4 -3. |
.47, R AFH § 0 99 @ F &, Xv, PO F AB I F WY {@wt §, 7R xv || p
ZAOBFEME | |
| i .,
o
P 5 Q
) 80° @ w0
@ 70° 4) - 100°.

In the given figure O is the centre of a circle, XY, PQ, AB are tangents of

circle. If XY || PQ, then the value of Z AOBis

: A
X : < ‘ Y

(1) 80° , 2 90°

@) 70° @ 100"
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cosO sinfi 3
1—tan@ cotB-—1 &
(1) sin® +cosl (2) cos i — sin 0
A as p -1' o
(31 2 am‘O (4 cig b — i O
cosd _ sint s eaual t
l-tan® cotB-—1 18 eq g
(1) sin@+cosl (20 cost—smb
{3) 2sin8 | 4 1

cosB—s.inG'
st e @ HA T 52 wh W @ A ¥ uH G Fwen T 9A % el 1 A
73T £ F1 Wil &

i 1
(1} 13 (2) 36

3 1
(3] 53 4) 3

A card is drawn from & well shuffled pack af 52 cards. The probability that card

s ared ace is

o : !

13 AT
3 1

w3 @ 3

tan 20° tan 40° tan 50° tan 70° F T4 &

1 0 (2) :!,_;; .
(3] 3 4 L
Value of tan éo° tan 40° tan 50° tan 70° is

(y o - (2) 7‘.5

3 43 @4 1
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53

UH AP. % 3ifaw gt ugl w1 gm0 uuﬁmw:uamémzé a‘MP
TSl %1 HEw g

(. 22 (2 20
(31 11 (4} 19.

Sum of last two terms of an AP, is 60, [f first term is 11 and common differen

15 2, then the number of terms in the AP, is
(1 22 2 20
3 11 - @19
7tz st g7 #1 ufify vE 39 =W F H 60 em £, 4l FH & ETEA £ '

. NN
(1} 49 nem? 2 l4zem? .,:.:f; K '
‘ {7
C 13 196 !r.cm2 14} _?;2 ncm . X

if the difference of circumference and diameter of a circle is 60 ¢m, then the are

e o ¥

of the circle is ‘ 5.7
(1} 49 nem? 2) 14 mem? Sxy v Gpd
(3} - 196 xcm? 4 _‘;2 %em?2

m"szﬁw%ﬁwmmﬁmmm a?, b2 A2 E A E F
R | |

{1) azbzc,2 ' (2) abc

@3 a’b3c? (4] abe .

2

If the areas of three adjoining faces of a cuboid are a“, b2 and c? respectively

then the volume of the cuboid is

(11 a?p?c* 2} abe

(3 PRPEP 4)  Jabc.
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54. aﬂ%aﬂﬁﬁwcp@m%mﬁwuocwm DC=3:2% | AAOB -
az;cou%a%amﬁmraﬁm%

= ‘ D - c

(1) 3:2 | 2 2:3
(3) 4:9 | @ 9:4.
" In the given ﬁgure ABCD is a trapezium in which AB || DCand AB: DC =3 : 2.

The ratio of the areas of A AOB and A CODis.
D - C

(1) 3:2 o @ 2:3 -
3 4:9° @ 94

 55. zT%.S, 9 x 7,4, yWW7 %_. at X, yﬁW %
(1) x+y=42 @ x+y=17 _
@] x-y=10 @ x—y=42.

If the mean of S, 9, x, 7, 4, y is 7, then relation between x and y is

(1) x+y=42 @ x+y=17
@ x-y=10 @) x—y=42.
56, TE | |
) e | (2) T HW
(3) WW | @) W?ﬁairl
Tithe is o
(1) religious tax (2 implied tax

(3) tailletax = . {4), - feudal tax.
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60.

T 7

TT iic:c @ W

(3} R (4)  TEEE |

Who was Rasputin ?

i1) King {2) Monk

(3}  Revolutionary (4)  Prime Minister.

g HR g & dig e W well e ard #e-d o
T @ e A
(3) FEH Ve wa (4) 9% A= tEE

The railway line w'nich was to'be constructed between Multan and Sukk
(I}  North Valley Railway (2} . Indus Valley Railway

(3) Southem State Railway (4]  West Valley Railway.

‘e T W A R s o
(1) ‘Iﬂﬂk"ﬂ » (2) W

(3 T (4 -

Who adopted the ‘Scorched Earth Policy' ?

(1} Ponugucse (2) French
{3] Dutch {4} German.
TEH TR oo T A §

0 e | 2)  fazm

(@ FWWW (4w
Raikas belong to the state of

{1}  Rajasthan {2)  Bihar |

a

-
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62.
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64.

(1) #eE@ - (o vgan At

@) fowrs | @ feer

Young Italy, a secret sociefy was formed by

(1) Metternich : . (2) Ciuseppe Mazzini
(3) Bismarck | 4) Hitler.

feramees shrgferas o7 0 W wwlfu o 9 ¢

(1) e (2)  SEHH

@ | g ST

The thinker Confucius belong buntry

(1) ~ England o _ P America

(3) China : . (4) Japan.
SferateTed ST §eATehis gl |

(1) 10 37, 1919 (2 1330, 1919
3) 14 aifk"f 1919 (4) 18 300, 1919.

Jallianwalla Bvag'in'cident took place on

(1) 10th April, 1919 (2)  13th April, 1919

(3) 14th April, 1919 (4) 18th April, 1919.
) oTREE @ TR

@) e A @ e

Dandi is located in
(1) Gujarat | (2)  Rajasthan

(3) Maharashtra (4)  Punjab. -



65. aqﬁama’i*qzagé

66.

67.

(1) 1927 %o A 2). 1929 %o
(3) 1930 %o (4) 1931 30 |

The Great Depression began in :

(1) 1927 AD ~ '(2)" 1929 AD
(3) ’, 1930 AD (4) 1931 AD. |
W%m@m-mmmﬁwm 1973ﬁawﬁmwm ?
(1) wwET @ TeRE |
",(3) R & (@) #R FEER |
 Which island was gnov;m as Amindiv whose name was changed in 1973 ?
(1) Lakshadweep . (2)  Maldives
{31 New Moore island 4= |2 (4)  Car - Nicobar.
wﬁzﬁ@-néwm@uﬁwmmaﬁﬁq:
Cowher whon
@ W 0 TR
@ e @) AW
@) ?-mfr ORI ) R
(ﬁ)_ o W Wl ‘
¥ T | T
M) i i v
@ i i i v
(3)‘- o

@ iv i i i



Match List = I with List - II correctly and choose the correct code from the

-

following :

List-1 List - II
[Ai Kaveri 1)  Nasik
{B] Godavari fuf  Betul
(C} Tapi + (iii)  Brahmagiri
{0}  Knshna (iv; Mahabaleshwar.

Code :

(1) i il i iv
R TR T TR
) N O T T
68 (4] v @i @t i

5, WHHgE § Loz &) E Fal e w2
(1) HAEER (2) =R
3 e (4] | = U FHR |
Stalagmite ;md Stalactite caves are located in
(1)  Mawsynram (2) Cherrapunji

{(3) Shimla {4)  Jammu and Kashmir.
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(31) @

(=) ufygm Fm
(W) = v FER
(%) memmg |

. A e T g § e I w aE W

(1) Fae (3) @ (@aE
(3 (@Ma@ (4)  TEE |
Which state(s) has/have the highest reserved forest ratio ?
(Al Kerala
1B)  West Bcngaf .
{C} Jammu and Kashmir
(D} Maharashtra.
Choose the carrect answer from the codes given below :
(1 eonly (8} {2) - (A) and (D)

{3) (A} and (C | ~ 4 all of these.

v =f wf ot wor Ieem & vt d v @ fava o wm d

(1) 1317 (2} 1334

2,

(3) 137 {4) 1574 |

With refrence to water availability per person per year India’s rank in the worl
(1) 131st {2} 133rd

(3) 137th .o @) 157th.



71.

wm@mmm%ﬁmﬁwwmmimmmi?

—
-

(1) f=@r (2) HU©d

(3 dHeg | @ &

Roof water harvesting system is a compulsory structure in which state ?
(1) Bihar '(2) Meghalaya

(3) Tamil Nadu - - (4)  Karnataka.

ra. e ® e i R e T T A e e R I

g -1 . g@d-nm

(3) TR () FRETS

@ fem (i) fmmlﬁa

(@ fa=r (i) ma

@ g (i) - %90 uma' |
T2

¥ 3T | T
i i i v
@ v i i i

- 3) il i iii v



Match List - I and List ~ II and choose the correct code from the following :

. List-I List - IT
_ (A)  Waler (i - Jharkhand
(B) Dahiva {n) Himalayan region
(©)  Khil i) Madhya Pradesh
(D} Kuruwa . {iv) S.E. Rajasthan,
Code : -
A B € D
-~
i oo i v
- ' X
2 v i - i
" S TR R S
(4) v i it i
73, - @8 F1 WY R R B e A E 2
(1) o 2) IO Hieadg a6t 39
3 wEAmE @ 39 wigaE e a1 1

Rubber is related to which type of vegetation ?

(1) I Tundra & 3 (2 Tropical rain forest
_ (3) Mountain forest {4} Tropical deciduous forest,
74. wEvE fem weon e AR fen g W o sams € 2
(1) R | 2 s
3) @ AT , (4) e |

Koderma mines located in Jharkhand is rich in which 1‘ninerals ?
(1} Bauxite (2} Mica

(3} .lron are . (4) Copper.




75, FEH @ W U geR-faemar SRR e @ R e e 7

1y T SR L
(3} TR (@) TR |
- Which of the following states is not connected with Hajira-Vijaypur-Jagdishpur
pipeline ?
(1) Madhya Pradesh 12 Maharashtra
3] Gujarat v[4] Uttar Pradesh.
76, Trefafad 0§ FA-w gifea @ & 7
(1) TIF gt ~  eEER AR
@ dfrec mdid - dwaew
@) e ol W e s
(4) =y urd —  WEWEE
Which among the following is not correctly matched ?
{11 Popular uﬁity - Salvador Alche
{21 Solidarnosc or sohidarity - Lech Walesa
{3] National League for Democracy  — Augusto Pinqchét‘
{4} Bath party 4 - Saddam Hussci'n.

A FgtE GAlET WA F0 & day 3 6l e s

(1} UL, WA, Wi, g

(2)  HeierEn, g, SRA, e

(3) WA, SSUZHT, g, el

(4) G, SO, 9T, AV |

Identify the correct order regarding the granting of universal adult franchise :

(1) Argentina, India, Malaysia, Greece

“(2) Malaysia, Greece, India, Argentina

=Y Yo 22 A cmmntivnm  lesimsnns LY BN BN
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(1)

(2)

(3)

(4)

WWmﬁ@ﬁmmﬁ%ﬁﬁmwhm%;
R 31 F1W ZRT o1 SIran €

T FE 20 Pl R AW W R & @ NN A & o e
wﬁﬁwwwwwgwhﬂﬁ%ﬁ%m
Qe T8 TEA &l AR €

N T3 FS % W T & T A A 2
diet 1 SfuehR Fan IR & WA TWE R A Mg 1

Find out the wrong explanation of functioning of United Nations :

(1)

Who lends money to governments when they need it ? Inte

Monetary Fund ( I.M.F. ) does so.

(2) What happens when a country attacks another country in a
manner ? The U.N. Security Council, an organ of U.N. ‘is respoi
maintaining peace and security among countries.

(3) .;I‘he weightage of vote of every member of International Monetary
equal. | ' o |

(4) Each permanent member of Security Council has veto power.

| = iy |
(1) WS WU — W WHER F1 8 0 AT W & Gy
(2) TG GO — UF FAF aw et ¢, e e wd @ o
[ 3AE |
3)

WR”ﬁmmmmwmmmﬁmhma
mmmm@ﬁh‘"'
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Find out the correct cicplanation :
{1] Referendum - Only used for a specific EOv snment policy.

(2} Coup - A coup is legal system, in which system the government hands over

all rights and powers ta the military.

i3]  Martial law ~ A system of rules, that takes effect when a military authorty

takes control of the normal administration of justice,

{4 Communist State - In communist state all political partics have complete

liberty to compete for power.

f‘!ﬂfﬂ’%&u‘ﬁm&
(A) anﬁﬁam%mmwmmm
TN EETE |

B a7 deat PR o F I SR
(©) U AR S ] F HOEE @ A SR I €
(D) @ A 1 e a9 e

i F wiwad o e | sE-en 4§ g e E 2

(1) A¥RB (2) AdC

(3] A BN C 4] A B, CHRD.

Pay attention on the following points :

(A] A democratic government is a better government because it is a more

accountable form of government.

(B] Democracy improves the qu;ality of d(;cisio.n making.

IC} Democracy provides a method to deal with the differcncesl and
conflicts.

(D} Democracy enhances the dignity of citizens.

L

- Which are the factors involved in comprising Indian democracy ?

v o . Y} A nwd 7™
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Frfefaa @t % @ W @ wEiert & fawa o A o veat -

(1)

(2)

Q)

82.

@)

wmmh%ﬁ%mme$aﬁmwm
FHAAME 1
WMMWW%WWWMWWF%M
g rw%wﬁ%mhnﬁﬁmm%mﬁa%mmén
mmmmm%mﬁqummmw
M%mﬁmmwmmél

a}quaaaﬁm%%a}mwwmﬁmﬁakmah
wﬁmaﬁmémsﬁa’tﬁtﬁn

Which among the following statements is a moral reason regarding the

desxrablhty of power sharing ? |

(1)

@)

3

(4)

Power sharing is good because it helps to reduce the pbssibility of conflict
between social groups. |

Social conflict often leads to violence and pblitical instability. Hence po;wer
sharing is-a good way to ensure the stability of polmcal otrder.

Tyranny of tnc majonty is not Just oppresswe for- the minority, it often

bnngs ruin to the majority as wcll - P

- A democratic rule involves shanng power thh thosc affected by its exercise

and who have to hvc with its effects.

mwmﬁrqmﬁmaﬁwmﬂhﬁ

qmﬁam%mﬁﬁsaﬁﬁa&h#maﬁ%?

(1)

(A) T SR & AT e wR A A
(B) mmwaﬁmﬁ@ﬁmwwwm%lwm
FUFR &4 FA-FATEAE |

(©) Hfammwésztwé?aﬁaasﬂzmﬁmﬁmmmim |

D N
(D)‘ .ﬂmw%wuﬁﬁwﬂ?mm%l

B3R D @) A®RD
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Let us look at some of the key features of fédgralism :
(A) - There are two or more levels ( or tiers ) of gpjernment. A

(B) Different tiers of government govern the same citizens, but each tier

has its own jurisdiction.

(C) The existence and authority of each tier of government is

constitutionally guaranteed.

(D)  All states in the Indian Union have identical powers.

Which facts are correct regarding Indian Federalism :

(1) BandD (2) AandD

3) A BandC + . (4 A B CandD..

et e ) el s 4 oo Pt senai 6 Aot Al & s A wg

S

) = maE, éqxlaww @ T, s, de, el

3) f&<, ey, e, JEt '(4)' fe=sl, affret, wRTat, e

Find the correct \sequence of languages in the.ascending order according the

, 'proportion of speakers aS d?scribed in 8th Schedule of the Constitution of India :

(1)  Hindi, Marathi, Telugu, Bangla

(2) Hindi, Bangla, Telugu, Marathi

" (3) Hindi, Telugu, Bangla, Marathi

(4) Hindi, Bangla, Marathi, Telugu."



'@ﬁméﬁﬁamﬁﬁnﬁﬁzéuémﬁqﬁﬁ
: CogEt-1 . -
@A) R % fafm s @@ fawfaer | |
FETEH 3R =Eies & a9 g
T SR o e ‘ () HEIRE WHR
(B) G o seant fafvw wrfaE W &

. s (i) - e et foraor
(© HFR ¥ tifers e @ el o |
TR F WHR 3756 Tt agef wohelt | (i) 1992 F
(D) wmhvﬁmﬁ%&mwéﬁmﬁﬁﬂ . '

maﬁmﬁmm:_ S (iv) €EER |

T
' A B C D
(1) i i iv iii . v : ,
2y i A | A\
@ i i iv
(4) i v i . S
Match the following and choose the correct answer from the code :

List-1 |  List-1II

(A) Power is shared among different |
ofgans of government such as the : .
legislature, executive and judiciary ii) Community Government

~(B) Power is shared among dlfferent - (1) ‘Horizontal distribution of

| social groups - - e | power

(C) The fundamental prov1s1ons of the '

' constitution cannot be umlaterally
changed by one level of government (i) In 1992

(D) The constitutionalisation of 3rd tier |

of Indian democratic system. (iv) Federalism.
" Code : o o
| A B € D
() i i iv iii )
2 i di i v ’
@ i i i v

4 i ive i il
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(A)
(B)
(€)

(D)

L TR

(1)
)
@)

(4)

111

i

iii

i

(i) T W
(ii) SR
(i) forem

T 3R (iv) gfeE
B C D

i v

iooodvoc i

i v

v i i

Match the foIlowing and choose the correct answer from the given code :

)
(B)

(©)

(D)

Code :

w

2)
3)
(4)

1ii

i

11l

1

Union list

State list

Concurrent list,

List-1I | List - IT

(i Computer software
(i) Banking

(i) Education

.Residuéry powers L .(iv) Pélice.
|
B C D
i i v
iii iv i
G i v
iv il 1.



SAT-3 (34

g6, [ed d @ F-u U Affaty e & H E 2

(1) @+ ‘_ 2) wder
3 2 ' (4)  FT

Which one of the following is an activity of the tertiary sector ?

-

(1]  Mining {2} Tourism

(3} Dairy (4)  Agriculture.

g7, WA % fow o & ange 20 fer @ 2

o |
(1) TR (2) far
(31 T 4y FAEE |

In which state of India, is Amu! Dairy situated ?

. (1) Rajasthan 2} Bihar b
J : ‘{3]. Gujarat (4) Karnataka.
88. T Fuii feam’ AL AR
{1y 24 fawR & 2) 24 FEET
3 24 foaa #=° (4) o4 AW |
The ‘National Consumers’ Day’ is mkbra@d on
{1}  24th December (2} 24th Novogber

inn A Q--hn;ﬂmr 41 24th OCtObcr-



{35} SAT-3

go. fel 2w % ey a1 1 R gt i 4 faofe W, #9 W

91,

(1) #afEE 7Y (2) TEEA W IR

(3) fa=t amg 14)  wia safe T o

National income of any country is divided by iis total population, we get
{1} personal income | (2]  gross domestic product

(3] private income (4]  X per capita income.

g0, T Yar & fdir g B 7 R el o Rl

(1 ey fafy 2) =g fafy
3 e Tl (4) AW
Among the following which is the mcihod to estimate the poverty line 2
{1) Investment method "(2].. _Income method
{3) Capital method \ (4)  All of these.

feddsma el sy g ?

(1) R T A Tk W e 6§ o e <o g i

- FUw fREm e |

@) e T e e O fe g § watE e adn 3 9 o &
ana figm B & |

(3] ¥EAH TA IO A A % S S S0 & §eE e # §

W) e U 3 A e e w % R e E

Which of the following statements is correct ? -

(1] Centre of curvature of a concave mirror lies in front of it whereas that of

convex mirror lies behind the mirror. |

12} Ccnﬁc of curvature of a concave mirror lies behind it whereas that of
convex mirror lies in front of the mirror,

[(3}- Centres of curvaturc of ?o;h concave and convex mirrors lie in front of the
mirrgr.

(4] Centres of curvature of both oox_\éavq and convex mirrors lie behind the

mirror.



SAT-3 (36) |
92. ,ﬁa_x,quzqaammm%ﬁ@m%mﬁwmm%l
. 37ed WRON H X fh9 Wg & S g 2
m Na @ M

(3) Al (@)  Si. |
Element X forms a chloride with the formula )(Cl2 which is solid with a high

melting point. X would belong to the same group of periodic table as

(1) Na _ (2) Mg
3) Al @ si
93, 8g 3TN H mﬁﬁquﬁmﬁfm

(1) 8x10% . - 2) 602x10%
(3) 151x1023 @ s
Calculate the number of molecules in 8g O ,

(3 8x102% - @ 602x 1023
3) 151x10% | @) vs.' |

94. = QA PTG & o W@ & B
(1) SfafeE e | (2) q\%ﬁa‘r&aﬁmmﬁ |
(3) wrRalfed qu waE - (4) q%»ﬁu’rfzﬁamqaﬁé’r |

Which of the following is correct for Fungi ?
(1) Prokaryotic and saprcphytic |
' (2 Egkaryotic‘ and autot.rophic
(3) Prokaryoﬁc.and autotrophié
f(4) _ Eukaryotlc and saprophytic.

EH W A & W # forw eI S % ?

(1) gt @ e

@ w0 @ SRR
Jodine is essential for the‘syfithesis of which hormone ?
kl) Adrenaline | . (2) 'I"hyroxine

(3) Insulin 4 Oxytocin.



(37) o SAT-3

96. ﬁﬁmﬁzmmmﬁuiﬁéﬁmmﬁagw

1y W (2 =K
@) FAR @) e | | | :
‘Oriental Cricket Club’ the ﬁfst Indian Cricket Club was founded at
(1) Madras . (2) Bombay
(3) Kanpur 4 Calcutta.

97, T # ¥ - FRE FRANW oot § Frarud Tl ¢ 7
(1)  =shE _ (2) ~HEEIRE YR
(3) vaEfed gaH @) FEEMI
Which of the following is not associated with Coriolis force ?
(1) ~ Cyclones . (2) Ocean currents
(3) Prevailing winds (4) Jet streams.

98, TR VIR T B ovvrvvevvericnennnss T A HE

(1) 7™ R R
@ T @ e
The locé\l government structure goes rfght up tothe .o level.
(1) Village (2) ~ Ward.
(3) State ' - (4) = District.

99, WRd % fobm T H HuwTH I THH, wmﬁuﬁfatﬁ%qm@aﬂéaﬁ% ?
(1) ~ R g e
@) dfeEg @ TRE |
In which state of India maximum fair price shops are run by the co-operatives ?
(1) Maharashtra " (2) Delhi ' |
(3) Tamil Nadu . {4) Gujarat.

100. F0 & SEME At #§ WA T € o

(1) WEER (2 WESR gl

(3) SR C@)

Informal sources of credit do not include
(1) moneylenders | (2) © cooperatives
(3) trafiers . (4 friends.



